Test Item File

Chapter 6: Organizing the Business

Chapter 6: Organizing the Business

Test Item File


Chapter 6

ORGANIZING THE BUSINESS
CHAPTER 6 Correlation Table


Question Number

Question
Type
Easy
Knowledge
Moderate
Comprehension
Difficult

Application

True / False
1–10
11–38
39–50

Multiple Choice
51–78
79–127
128–150

Short Answer
151–159
160–167
168–175

Essay
176–177
178–179
180

Boxed Features
181–182, 185
183–184, 186
187–188

Short Case Scenario
189–193
194–196
197–200


Question Number

Corresponding Learning Objective
Easy
Knowledge
Moderate
Comprehension
Difficult

Application

LO 1
1–2, 51–53, 151–152, 176, 185
11–13, 79
NA

LO 2
3–4, 54–60, 153–154, 177, 181–182
14–20, 80–93
39–40, 128–131, 168–171

LO 3
5–10, 61–73, 155–156, 189–193
21–29, 94–113, 160–166, 178, 183–184, 194
41–46, 132–140, 172–173

LO 4
74, 157–159
30–35, 114–124, 179, 195–196
47–50, 141–149, 174–175, 197–198

LO 5
75–78
36–38, 125–127, 167, 186
150, 180, 187–188, 200

Total Number of Test Questions: 200

(50 True/False; 100 Multiple Choice; 25 Short Answer; 5 Essay; 
8 Boxed Feature; 12 Scenario)

Chapter 6

ORGANIZING THE BUSINESS

True/False Questions

Easy Questions

1. Organizational structure is the specification of the jobs to be done within an organization and the ways in which those jobs relate to one another.

Answer: True

Level: Easy

Page 174

Reference: Learning Objective 1 / What Is Organizational Structure?

2. Organization charts are graphical representations of employee salary information.

Answer: False

Level: Easy

Page 174

Reference: Learning Objective 1 / Organization Charts

3. Departmentalization refers to the process of grouping jobs into logical units.

Answer: True

Level: Easy

Page 177

Reference: Learning Objective 2 / Departmentalization

4. According to the text, a profit center is a division of a company whose revenues exceed its expenses.

Answer: False

Level: Easy

Page 177

Reference: Learning Objective 2 / Departmentalization

5. In a centralized structure, most decision-making authority is delegated to levels of management at various points below the top.

Answer: False

Level: Easy

Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

6. Authority is the duty to perform an assigned task.

Answer: False

Level: Easy

Page 183

Reference: Learning Objective 3 / The Delegation Process

7. Accountability refers to the liability of subordinates for accomplishing tasks assigned by managers.

Answer: True

Level: Easy

Page 183

Reference: Learning Objective 3 / The Delegation Process

8. Line authority is authority that flows up and down the chain of command.

Answer: True

Level: Easy

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

9. The organization’s informal structure is its official arrangement of jobs and job relationships.

Answer: False

Level: Easy

Page 192

Reference: Learning Objective 5 / Informal Organization

10. The grapevine is an informal network that runs through an organization.

Answer: True

Level: Easy

Page 193

Reference: Learning Objective 5 / Organizational Grapevine

True/False Questions

Moderate Questions

11. The chain of command is depicted by solid lines on an organization chart.

Answer: True

Level: Moderate

Page 174

Reference: Learning Objective 1 / Organization Charts

Rationale: These lines represent reporting relationships.

12. All organizations can successfully use the same organizational structure.

Answer: False

Level: Moderate

Page 175

Reference: Learning Objective 1 / Organization Charts

Rationale: Organizational structure is unique to each organization.

13. Organizational structure is a function of the organization’s mission and strategy.

Answer: True

Level: Moderate

Page 175

Reference: Learning Objective 1 / Determinants of Organizational Structure

Rationale: Size of the company and aspects of the organization’s environment also affect organizational structure.

14. The building blocks of all organizations are specialization and centralization.

Answer: False

Level: Moderate

Page 176-177

Reference: Learning Objective 2 / The Building Blocks of Organizational Structure

Rationale: The building blocks of all organizations are specialization and departmentalization.

15. In a sense, all organizations have only one major “job.”

Answer: True

Level: Moderate

Page 176

Reference: Learning Objective 2 / Specialization

Rationale: To perform one job, managers need to break it down, or specialize it.

16. As organizations grow and become larger, jobs tend to become less specialized.

Answer: False

Level: Moderate

Page 177

Reference: Learning Objective 2 / Specialization

Rationale: As organizations grow, jobs tend to become more specialized; job specialization is a natural part of organizational growth.

17. Specialized jobs are harder to learn and are performed less efficiently than nonspecialized jobs.

Answer: False

Level: Moderate

Page 177

Reference: Learning Objective 2 / Specialization

Rationale: In addition, it is also easier to replace people who leave an organization if they have highly specialized jobs.

18. Acme Oil Company has three divisions: Exploration, Extraction, and Refining. This is an example of process departmentalization.

Answer: True

Level: Moderate

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: With process departmentalization, the firm is divided according to production processes used to create a good or service.

19. Firms with production, marketing, human resource, and finance departments have a process form of organization.

Answer: False

Level: Moderate

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: Such firms have a functional form of departmentalization.

20. Firms typically use the same form of departmentalization at upper and lower levels.

Answer: False

Level: Moderate

Page 179

Reference: Learning Objective 2 / Departmentalization

Rationale: Because different forms of departmentalization have different advantages, larger companies, for example, tend to adopt different types of departmentalization for various levels.

21. McDonald’s utilizes a decentralized decision-making structure.

Answer: False

Level: Moderate

Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: In a decentralized structure, much decision-making authority is delegated to levels of management at various points below the top; in the case of McDonald’s, a centralized structure is used.

22. Flat organizational structures are usually associated with centralized decision making.

Answer: False

Level: Moderate

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Flat organizational structures are usually associated with decentralized decision making.

23. Employee’s abilities and the supervisor’s managerial skills help determine whether span of control is wide or narrow.

Answer: True

Level: Moderate

Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Other factors include job similarity and job difficulty.

24. When several employees perform the same simple task, a narrow span of control is most appropriate.

Answer: False

Level: Moderate

Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Job simplicity typically leads to a wider span of control.

25. For the delegation process to work smoothly, responsibility and authority must be equivalent.

Answer: True

Level: Moderate

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: First, responsibility is assigned; then, authority is granted, followed by the creation of accountability.

26. Business owners tend to be good at delegating.

Answer: False

Level: Moderate

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: Unfortunately, many managers have trouble delegating tasks to others.

27. In the delegation process, responsibility is assigned first; then, authority is granted,.

Answer: True

Level:
Moderate
Page 183

Reference: Learning Objective 3 / The Delegation Process 

Rationale: In the delegation process, responsibility is assigned first; then, authority is granted, followed by the creation of accountability.

28. If any staff department fails to complete its task, the company cannot sell and deliver finished goods.

Answer: False

Level: Moderate

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Staff members are not involved in the actual production and delivery of goods.

29. Common line functions include law, accounting, and human resources.

Answer: False

Level: Moderate

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: These represent common staff functions.

30. The functional organizational structure is the approach to organizational structure used by most small to medium-sized firms.

Answer: True

Level: Moderate

Page 185

Reference: Learning Objective 4 / Functional Structure

Rationale: Functional organization is used by most small to medium-sized firms. 

31. The functional organizational structure is highly flexible and readily adaptable to changing circumstances.

Answer: False

Level: Moderate

Page 186

Reference: Learning Objective 4 / Functional Structure

Rationale: A functional structure fosters centralization and makes accountability more difficult.

32. Semiconductor giant Intel recently reorganized from two business units into five, each focusing on different product types. Intel uses the divisional structure.

Answer: True

Level: Moderate

Page 186

Reference: Learning Objective 4 / Divisional Structure 

Rationale: A divisional structure relies on product departmentalization.

33. The matrix form of organizational structure uses a second chain of command.

Answer: True

Level: Moderate

Page 188

Reference: Learning Objective 4 / Matrix Structure

Rationale: A matrix structure is organized along two dimensions—a “permanent” structure, along with a temporary structure needed for project completion.

34. An international organization is one in which traditional boundaries and structures are minimized or eliminated altogether.

Answer: False

Level: Moderate

Page 190

Reference: Learning Objective 4 / International Structure

Rationale: Some companies perform operations in global structures without any regarding for national boundaries.

35. A virtual organization has little or no formal structure.

Answer: True

Level: Moderate

Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

Rationale: A virtual structure has only a handful of employees and a modest administrative facility.

36. Frequently, the informal organization effectively alters a company’s formal structure.

Answer: True

Level: Moderate

Page 192

Reference: Learning Objective 5 / Informal Organization

Rationale: This level, furthermore, is sometimes just as powerful—if not more powerful—than the formal structure.

37. The informal organization is not as powerful as the formal structure.

Answer: False

Level: Moderate

Page 192

Reference: Learning Objective 5 / Informal Organization

Rationale: This level of organization is sometimes just as powerful—if not more powerful—than the formal structure.

38. Intrapreneurs are individuals who are hired by large organizations to develop ideas for new products.

Answer: False

Level: Moderate

Page 193

Reference: Learning Objective 5 / Intrapreneuring

Rationale: Many large firms support the intrapreneuring process to encourage individual employees to innovate and maintain the organizational flexibility of a smaller firm.

True/False Questions

Difficult Questions

39. Job specialization is a natural part of organizational growth.

Answer: True

Level: Difficult

Page 177

Reference: Learning Objective 2 / Specialization

Rationale: Specialized jobs are learned more easily and can be performed more efficiently.

40. To avoid bureaucracy within the organization, most large organizations tend to adopt the same types of departmentalization for all levels.

Answer: False

Level: Difficult

Page 179

Reference: Learning Objective 2 / Departmentalization

Rationale: Larger companies tend to adopt different types of departmentalization for various levels of the company.

41. Decentralization works best in a complex, rapidly changing environment.

Answer: True

Level: Difficult

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Decision-making authority is delegated to levels of management at various points below the top; this allows the organization to be more adaptive to change.

42. As organizations grow in size, it is both normal and necessary that they become at least somewhat flatter. 

Answer: False

Level: Difficult

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: As organizations grow in size, it is both normal and necessary that they become taller; taller organizations allow delegation of authority downward among the various layers.

43. After accountability is created, authority is granted and responsibility is assigned to complete the delegation process.

Answer: False

Level: Difficult

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: Accountability is created after responsibility is assigned and authority is granted, in that order.

44. For the delegation process to work smoothly, responsibility must slightly exceed one’s level of authority.

Answer: False

Level: Difficult

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: Responsibility and authority must be equivalent for the delegation process to work smoothly.

45. Line, staff, and committee and team forms of authority are not likely to all be found within the same organization.

Answer: False

Level: Difficult

Page 183-184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Like departmentalization, all three forms of authority may be found in a given company, especially a large one.

46. Decision-making authority is sometimes granted to members of both committees and work teams.

Answer: True

Level: Difficult

Page 185

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Though committees and teams often exist at different levels of an organization, decision-making authority is sometimes granted to members of both groups.

47. Coordination across functional departments becomes more complicated in smaller firms than in larger firms.

Answer: False

Level: Difficult

Page 186

Reference: Learning Objective 4 / Functional Structure

Rationale: Coordination becomes more complicated across functional departments within large organizations.

48. A divisional structure relies on functional departmentalization.

Answer: False

Level: Difficult

Page 186

Reference: Learning Objective 4 / Divisional Structure

Rationale: A divisional structure relies on product departmentalization.

49. If a company is using a functional structure, adapting to a temporary matrix structure is possible.

Answer: True

Level: Difficult

Page 188

Reference: Learning Objective 4 / Matrix Structure

Rationale: A company using a functional structure can easily adapt a matrix structure to create a project team, for example, to create a product.

50. Team organization typically does not utilize functional hierarchy.

Answer: True

Level: Difficult

Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

Rationale: People float from project to project as dictated by their skills and the demands of those projects.

Multiple Choice Questions

Easy Questions

51. The specification of the jobs to be done within an organization and the ways in which those jobs relate to one another is called _____.

a. scientific management

b. a mission statement

c. job specialization

d. organizational structure

Answer: d

Level: Easy

Page 174

Reference: Learning Objective 1 / What Is Organizational Structure?

52. Which of the following clarify structure and show employees where they fit into a firm’s operations?

a. departmentalization

b. delegation

c. organization charts

d. mission statement

Answer: c

Level: Easy

Page 174

Reference: Learning Objective 1 / Organization Charts

53. Reporting relationships within the company shown on the organization chart as solid lines are defined as the _____.

a. mission statement

b. chain of command

c. lines of responsibility

d. grapevine

Answer: b

Level: Easy

Page 174-175

Reference: Learning Objective 1 / Organization Charts

54. Which of the following represents a building block for all business organizations?

a. specialization

b. departmentalization

c. decision-making hierarchy

d. all of the above

Answer: d

Level: Easy

Page 176

Reference: Learning Objective 2 / The Building Blocks of Organizational Structure

55. The process of identifying the specific jobs that need to be done and designing the people who will perform them leads to _____.

a. departmentalization

b. job specialization

c. group tasks

d. segmentation

Answer: b

Level: Easy

Page 176

Reference: Learning Objective 2 / Specialization

56. Grouping jobs into logical units is called _____.

a. specialization

b. accountability 

c. process management

d. departmentalization

Answer: d

Level: Easy

Page 177

Reference: Learning Objective 2 / Departmentalization

57. A separate unit responsible for its own costs and profits is referred to in the text as a(n) _____.

a. economic unit

b. specialized unit

c. profit center

d. cost center

Answer: c

Level: Easy

Page 177

Reference: Learning Objective 2 / Departmentalization

58. Dividing an organization according to the specific product or service being created is called _____.

a. product departmentalization

b. customer departmentalization

c. functional departmentalization

d. process departmentalization

Answer: a

Level: Easy

Page 178

Reference: Learning Objective 2 / Departmentalization

59. When the organization is divided according to production processes, it is referred to as _____.

a. functional departmentalization

b. process departmentalization

c. customer departmentalization

d. geographic departmentalization

Answer: b

Level: Easy

Page 178

Reference: Learning Objective 2 / Departmentalization

60. When each department targets a specific customer category, departmentalization occurs along _____.

a. functional lines

b. customer lines

c. product lines

d. process lines

Answer: b

Level: Easy

Page 178

Reference: Learning Objective 2 / Departmentalization

61. In a(n) _____ organization, most decision-making authority is held by upper-level managers.

a. democratic

b. free-reign 

c. centralized

d. decentralized

Answer: c

Level: Easy

Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

62. Centralized authority is commonly found in companies that _____.

a. face stable, predictable environments

b. face unstable, unpredictable environments

c. are very large in size

d. must be responsive to change

Answer: a

Level: Easy

Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

63. Centralized firms tend to be _____.

a. flat

b. tall

c. large

d. very responsive to change

Answer: d

Level: Easy

Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

64. Decentralization is typical in companies that _____.

a. face stable, predictable environments

b. face unstable, unpredictable environments

c. are smaller in size

d. focus tightly on maintaining standardization

Answer: b

Level: Easy

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

65.  Decentralized firms tend to be _____.

a. flat

b. tall

c. multi-layered

d. none of the above

Answer: a

Level: Easy

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

66. The number of people managed by one supervisor is called the manager’s _____.

a. authority

b. responsibility

c. span of control

d. line authority

Answer: c

Level: Easy

Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

67. The duty to perform an assigned task is called _____.

a. delegation

b. authority

c. responsibility

d. accountability

Answer: c

Level: Easy

Page 183

Reference: Learning Objective 3 / The Delegation Process

68. The power to make the decisions necessary to complete the task is _____.

a. delegation

b. authority

c. responsibility

d. accountability

Answer: b

Level: Easy

Page 183

Reference: Learning Objective 3 / The Delegation Process

69. _____ is the assignment of a task, responsibility, or authority by a manager to a subordinate.

a. Delegation

b. Responsibility

c. Centralization

d. Decentralization

Answer: a

Level: Easy

Page 183

Reference: Learning Objective 3 / The Delegation Process

70. _____ is the obligation employees have to their manager for the successful completion of an assigned task.

a. Authority

b. Centralization

c. Accountability

d. Span of control

Answer: c

Level: Easy

Page 183

Reference: Learning Objective 3 / The Delegation Process

71. Authority that flows up and down the chain of command is called _____.

a. staff authority

b. departmental authority

c. line authority

d. delegated authority

Answer: c

Level: Easy

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

72. Departments linked to the production and sales of specific products are _____.

a. staff departments

b. matrix departments

c. line departments

d. organizational departments

Answer: c

Level: Easy

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

73. Authority given to a special group of employees that play central roles in the firm’s daily operations is called _____.

a. risk aversion

b. committee and team authority

c. line authority

d. matrix organization

Answer: b

Level: Easy

Page 185

Reference: Learning Objective 3 / Three Forms of Authority

74. In a(n) _____ structure, individuals report to two or more managers.

a. departmental

b. functional

c. regional

d. matrix

Answer: d

Level: Easy

Page 188

Reference: Learning Objective 4 / Matrix Structure

75. Everyday social interactions among employees that transcend formal jobs and job interrelationships are called the _____.

a. formal organization

b. informal organization

c. gossip structure

d. production organization

Answer: b

Level: Easy

Page 192

Reference: Learning Objective 5 / Informal Organization

76. The informal organization _____.

a. is the part that can be seen and represented in chart form

b. captures the formal assignment of authority

c. can reinforce office politics that put the interests of individuals ahead of those of the firm

d. works to integrate continuous employee learning and development

Answer: c

Level: Easy

Page 192

Reference: Learning Objective 5 / Informal Organization

77. The _____ is an informal communication network that runs through a firm.

a. intranet

b. intrapreneur network

c. control span 

d. grapevine

Answer: d

Level: Easy

Page 193

Reference: Learning Objective 5 / Organizational Grapevine

78. Creating and maintaining the innovation and flexibility of a small business environment within the confines of a large, bureaucratic structure is referred to as _____.

a. basic structuring

b. process organization

c. intrapreneuring

d. extrapolating

Answer: c

Level: Easy

Page 193

Reference: Learning Objective 5 / Intrapreneuring

Multiple Choice Questions

Moderate Questions

79. Which of the following elements determine an organization’s structure?

a. the organization’s size 

b. the organization’s mission

c. the organization’s strategy

d. all of the above

Answer: d

Level: Moderate

Page 175

Reference: Learning Objective 1 / Determinants of Organizational Structure

Rationale: Many factors determine an organization’s optimal structure, including mission, strategy, company size, and the organization’s environment.

80. Determining who will do what is referred to as _____.

a. departmentalization

b. specialization

c. accountability

d. authority

Answer: b

Level: Moderate

Page 176

Reference: Learning Objective 2 / Specialization

Rationale: The process of identifying the specific jobs that need to be done and designating the people who will perform them leads to job specialization.

81. When the “job” of a firm is broken down into smaller jobs, managers _____.

a. fragment the task

b. specialize the job

c. respond to the job

d. control the job

Answer: b

Level: Moderate

Page 176

Reference: Learning Objective 2 / Specialization

Rationale: In a sense, all firms have one major job; to perform this one overall job, managers actually break it down, or specialize it, into several smaller jobs.
82.  At Chaparral Steel, some employees transport scrap steel while others operate shredding equipment. This is an example of _____.

a. departmentalization

b. specialization

c. functionalization

d. responsibility

Answer: b

Level: Moderate

Page 176

Reference: Learning Objective 2 / Specialization

Rationale: When the overall job of the organization is broken down like this, workers can develop real expertise in their jobs, and employees can better coordinate their work with that done by others.

83. The extent to which a job is broken down into smaller tasks is referred to as _____.

a. departmentalization

b. specialization

c. accountability

d. authority

Answer: b

Level: Moderate

Page 177

Reference: Learning Objective 2 / Specialization

Rationale: In a sense, all firms have one major job; to perform this one overall job, managers actually break it down, or specialize it, into several smaller jobs.

84. As a small organization grows, so does the need to _____.

a. find buyers

b. specialize

c. retrench

d. internalize

Answer: b

Level: Moderate

Page 177

Reference: Learning Objective 2 / Specialization

Rationale: As an organization grows, the need to specialize jobs so that others can perform them also becomes a priority.

85. Which of the following is a natural part of organizational growth?

a. retrenchment

b. entrepreneurship

c. job specialization

d. outsourcing

Answer: c

Level: Moderate

Page 177

Reference: Learning Objective 2 / Departmentalization

Rationale: As an organization grows, the need to specialize jobs so that others can perform them also becomes a priority.

86. Determining how people performing certain tasks can best be grouped together is called _____.

a. departmentalization

b. specialization

c. controlling

d. directing

Answer: a

Level: Moderate

Page 177

Reference: Learning Objective 2 / Departmentalization

Rationale: Departmentalized companies benefit from this division of activities; control and coordination are narrowed and made easier, and top managers can see more easily how various units are performing.

87. Which of the following is a benefit of the division of activities?

a. control is narrowed and made easier

b. coordination is narrowed and made easier

c. top managers can see how units are performing

d. all of the above

Answer: d

Level: Moderate

Page 177

Reference: Learning Objective 2 / Departmentalization

Rationale: In addition, a department can be treated as a profit center.

88. Sears can calculate the profits it generates from appliances, home furnishings, and every other department in the store if it treats each department as a _____.

a. profit center

b. cost center

c. economic unit

d. centralized unit

Answer: a

Level: Moderate

Page 177-178

Reference: Learning Objective 2 / Departmentalization

Rationale: In doing so, each department can be seen as separate company unit responsible for its own costs and profits.

89. Departmentalization may occur along which of the following lines?

a. customer

b. functional

c. product

d. all of the above

Answer: d

Level: Moderate

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: In addition, departmentalization may occur along process lines.

90. Vlasic has separate departments to transform cucumbers into fresh-packed pickles, pickles cured in brine, and relishes. This is an example of _____.

a. functional departmentalization

b. process departmentalization

c. customer departmentalization

d. geographic departmentalization

Answer: b

Level: Moderate

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: With process departmentalization, the organization is divided according to production processes used to create a good or service.

91. Firms having production, marketing, human resource, and finance departments are departmentalized according to _____.

a. geography

b. function

c. process

d. customer

Answer: b

Level: Moderate

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: With functional departmentalization, organizations develop departments according to a group’s functions or activities.

92. Dividing a store into a men’s department, a women’s department, a luggage department, and so on, is an example of ____.

a. product departmentalization

b. customer departmentalization

c. process departmentalization

d. geographic departmentalization

Answer: b

Level: Moderate

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: Customer departmentalization is a form of organization in which departments are created to offer products and meet needs for identifiable customer groups.

93. When a firm has one division for the United States, one for Europe, and another for Asia, the firm is departmentalized according to _____.

a. customer

b. process

c. geography

d. function

Answer: c

Level: Moderate

Page 179

Reference: Learning Objective 2 / Departmentalization

Rationale: With geographic departmentalization, an organization is divided according to the areas of the country or the world that they serve.

94. In a(n) _____ organization, most lower-level decisions must be approved by upper management before they can be implemented.

a. line

b. staff

c. decentralized

d. centralized

Answer: d

Level: Moderate

Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: In a centralized organization, most decision-making authority is held by upper-level managers.

95. At McDonald’s, most advertising is handled at the corporate level, and any local advertising must be approved by a regional manager. McDonald’s is an example of a(n) _____ organization.

a. authoritarian 

b. committee 

c. decentralized

d. centralized

Answer: d

Level: Moderate

Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: McDonald’s practices centralization as a way to maintain standardization.

96. In a _____ organization, decision-making authority is delegated to levels of management at various points below the top.

a. centralized

b. decentralized

c. point-of-sale

d. geographic

Answer: b

Level: Moderate

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: As a company gets larger, decision making tends to become more decentralized; decentralization is typical in firms that have complex and rapidly changing environmental conditions.

97. _____ organizations become more responsive to the environment by breaking the company into more manageable units.

a. Centralized

b. Decentralized

c. Geographic

d. Process-oriented

Answer: b

Level: Moderate

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: In doing so, the organization can operate more efficiently in complex, rapidly changing environmental conditions.

98. With relatively few layers of managers, decentralized organizations tend to reflect a _____ organizational structure.

a. tall

b. short

c. flat

d. elliptical

Answer: c

Level: Moderate

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Delegation and authority are pushed downward in the organizational hierarchy.

99. Companies with centralized authority systems typically require multiple layers of management and have _____ organizational structures.

a. tall

b. short

c. flat

d. broad

Answer: a

Level: Moderate

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Decisions are made mostly by upper-level managers.

100. The U.S. Army has a _____ organizational structure, with many organizational layers.

a. tall

b. short

c. flat

d. broad

Answer: a

Level: Moderate

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: The U.S. Army has a centralized authority system.

101. In tall organizations, span of control tends to be _____.

a. short

b. tall

c. wide

d. narrow

Answer: d

Level: Moderate

Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Due to multiple layers of employees, different levels of employee skill levels, job dissimilarities and job difficulties, tall organizations tend to lead to a narrower managerial span of control.

102. Which of the following factors affect the manager’s span of control?

a. employee’s ability

b. supervisor’s management skills

c. simplicity of the task

d. all of the above

Answer: d

Level: Moderate

Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: In addition, similarity of the task and level of company politics can affect the manager’s span of control.

103. When employees perform either the same simple task or a group of interrelated tasks, the span of control is often _____.

a. short

b. tall

c. wide

d. narrow

Answer: c

Level: Moderate

Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Task similarity and task simplicity allow manager’s a wider span of control.

104. When jobs are more diversified or prone to change, the preferable span of control is _____.

a. wide

b. narrow

c. tall 

d. deep

Answer: b

Level: Moderate

Page 183

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: Job difficulty and job dissimilarity can lead to a narrower span of control for managers.

105. Which of the following best describes responsibility?

a. the power to make the decisions necessary to complete a task

b. the liability of subordinates for accomplishing tasks assigned by managers

c. the number of people supervised by one manager

d. the duty to perform an assigned task

Answer: d

Level: Moderate

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: In contrast, authority is the power to make the decisions necessary to complete the task.

106. Which of the following best describes authority?

a. the power to make the decisions necessary to complete a task

b. the liability of subordinates for accomplishing tasks assigned by managers

c. the number of people supervised by one manager

d. the duty to perform an assigned task

Answer: a

Level: Moderate

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: In contrast, responsibility is the duty to perform an assigned task.

107. Which of the following begins when a manager assigns responsibility to a subordinate?

a. delegation

b. liability

c. centralization

d. authority

Answer: a

Level: Moderate

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: The delegation process involves three steps: assigning responsibility, granting authority, and creating accountability.

108. After responsibility for a task is assigned, which of the following comes next?

a. the granting of authority

b. the centralization of the task

c. the liability of the task

d. the span of control is decided

Answer: a

Level: Moderate

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: The delegation process involves three steps: assigning responsibility, granting authority, and creating accountability.

109. Which of the following best describes accountability?

a. the power to make the decisions necessary to complete a task

b. the obligation employees have to their manager for the successful completion of an assigned task

c. the number of people supervised by one manager

d. the duty to perform an assigned task

Answer: b

Level: Moderate

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: Creating accountability is the final step of the delegation process; for the process to work smoothly, authority and responsibility must be equivalent.

110. _____ is based on special expertise and usually involves counseling and advising.

a. Line authority

b. Matrix authority

c. Delegated authority

d. Staff authority

Answer: d

Level: Moderate

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: For example, a corporate attorney may be asked to advise the marketing department as it prepares a new contract with the firm’s advertising agency.

111. Specialists in law, accounting, and human resource management are commonly called _____.

a. profit centers

b. cost centers

c. staff members

d. line members

Answer: c

Level: Moderate

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Staff members help line departments in making decisions but do not usually have the authority to make final decisions.

112. Which of the following is an example of a staff function?

a. corporate attorneys

b. accounting personnel

c. human resource personnel

d. all of the above

Answer: d

Level: Moderate

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Staff members help line departments in making decisions but do not usually have the authority to make final decisions.

113. Groups of operating employees empowered to plan and organize their own work and to perform that work with a minimum of supervision are referred to as _____.

a. task forces

b. standing committees

c. work teams

d. division committees

Answer: c

Level: Moderate

Page 185

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: The organization will usually find it beneficial to grant special authority to work teams so that they may function more effectively.

114. Which of the following is NOT one of the four basic forms of organizational structure mentioned in the text?

a. production

b. functional

c. divisional

d. matrix

Answer: a

Level: Moderate

Page 185

Reference: Learning Objective 4 / Basic Forms of Organizational Structure

Rationale: These basic forms include functional, divisional, matrix, and international structures.

115. The form of organization used by most small to medium-sized firms is _____.

a. divisional

b. functional

c. matrix

d. international

Answer: b

Level: Moderate

Page 185

Reference: Learning Objective 4 / Functional Structure

Rationale: Functional structure is a form of organization in which authority is determined by the relationships between group functions and activities; it is based on the use of functional departmentalization at the highest level of the business.

116. Firms structured around departments have which of the following forms?

a. divisional

b. matrix

c. functional

d. international

Answer: c

Level: Moderate

Page 186

Reference: Learning Objective 4 / Functional Structure

Rationale: Benefits of this structure include specialization within functional areas and smoother coordination among them.

117. Which of the following structures relies on product departmentalization?

a. matrix

b. functional

c. divisional

d. international

Answer: c

Level: Moderate

Page 186

Reference: Learning Objective 4 / Divisional Structure

Rationale: The firm organizes itself around product-based divisions, each of which may then be managed as a separate enterprise.

118. Departments that resemble separate businesses in that they produce and market their own products are called _____.

a. regions

b. divisions

c. function centers

d. cost centers

Answer: b

Level: Moderate

Page 186

Reference: Learning Objective 4 / Divisional Structure

Rationale: Further, the head of each division may be a corporate vice president or, if the organization is large enough, a divisional president.

119. According to the text, food manufacturer H. J. Heinz is organized into seven _____, including food service, infant foods, condiments, Star-Kist tuna, pet foods, frozen foods, and other products.

a. departments

b. regions

c. units 

d. divisions

Answer: d

Level: Moderate

Page 187

Reference: Learning Objective 4 / Divisional Structure

Rationale: Heinz can thus evaluate the performance of each division independently.

120. Which of the following types of organizational structures was pioneered by NASA for use in developing specific programs?

a. regional

b. matrix

c. international

d. functional

Answer: b

Level: Moderate

Page 188

Reference: Learning Objective 4 / Matrix Structure

Rationale: The matrix structure is a highly flexible form that is readily adaptable to changing circumstances.

121. Many businesses manufacture, purchase, and sell in the world market. They utilize a(n) _____ organizational structure.

a. matrix

b. divisional

c. operational

d. international

Answer: d

Level: Moderate

Page 188

Reference: Learning Objective 4 / International Structure

Rationale: Firms have developed a wide range of approaches to international organization.

122. A _____ organization relies almost entirely on employees working on a common project, with little or no underlying functional hierarchy.

a. team

b. virtual

c. learning

d. flexible

Answer: a

Level: Moderate

Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

Rationale: People float from project to project as dictated by their skills and the demands of those projects.

123. A _____ organization has little or no formal structure, with only a handful of permanent employees.

a. team

b. virtual

c. learning

d. flexible

Answer: b

Level: Moderate

Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

Rationale: Typically, a virtual organization has only a handful of permanent employees, a very small staff, and a modest administrative facility.

124. A _____ organization seeks to integrate continuous improvements with continuous employee development.

a. team

b. virtual

c. learning

d. flexible

Answer: c

Level: Moderate

Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

Rationale: A learning organization works to facilitate the learning and personal development of all of its employees while continually transforming itself to respond to changing demands and needs.

125. The type of organization within which people do their jobs in different ways and interact with other people in ways that do not follow formal lines of communication is called the _____.

a. matrix organization

b. informal organization

c. rational organization

d. divisional organization

Answer: b

Level: Moderate

Page 192

Reference: Learning Objective 5 / Informal Organization

Rationale: The informal organization includes the everyday social interactions among employees that transcend formal jobs and job interrelationships.

126. Which of the following organizational systems is the part that can be seen and represented in chart form?

a. normal organization

b. formal organization

c. informal organization

d. grapevine

Answer: b

Level: Moderate

Page 192

Reference: Learning Objective 5 / Informal Organization

Rationale: The structure of a company, however, is by no means limited to the organization chart and the formal assignment of authority.

127. Compaq Computer has used _____ to create and maintain the innovation and flexibility of a small business environment within the large, bureaucratic structure.

a. formal organization

b. informal organization

c. intrapreneuring

d. entrepreneurship

Answer: c

Level: Moderate

Page 193

Reference: Learning Objective 5 / Intrapreneuring

Rationale: The firm has one major division, the New Business Group. When a manager or engineer has an idea for a new product or product application, the individual takes it to the New Business Group and “sells” it. The managers in the group then help the innovator develop the idea for testing.

Multiple Choice Questions

Difficult Questions

128. Which of the following is an advantage of job specialization?

a. workers can develop expertise in their jobs

b. workers will not need to be trained

c. jobs become more interesting

d. workers derive more satisfaction from their jobs

Answer: a

Level: Difficult

Page 177

Reference: Learning Objective 2 / Specialization

Rationale: However, jobs at lower levels of the organization are especially susceptible to overspecialization. If such jobs become too narrowly defined, employees may become bored and careless, derive less satisfaction from their jobs, and lose sight of their roles in the organization

129. Procter and Gamble has Baby Care, Beauty Care, Health Care, and Home and Fabric Care divisions in its U.S. operations. This is an example of _____.

a. product departmentalization

b. customer departmentalization

c. process departmentalization

d. geographic departmentalization

Answer: a

Level: Difficult

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: With product departmentalization, the organization is divided according to the specific product or service being created.

130. Which statement about departmentalization is NOT true?

a. Managers departmentalize jobs randomly.

b. Managers departmentalize jobs logically.

c. Control and coordination are narrowed and made easier.

d. Top managers can see more easily how various units are performing.

Answer: a

Level: Difficult

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: Managers do not departmentalize jobs randomly; it is done rather logically. 

131. American Wood Products has three divisions. The Lumberjack division is involved in harvesting trees and transporting them to lumber mills. The Milling division transforms cut timber into dimensional lumber for building. The Paper Products division makes paper and cardboard from the remnants of the milling process. This is an example of _____.

a. functional departmentalization

b. process departmentalization

c. customer departmentalization

d. geographic departmentalization

Answer: b

Level: Difficult

Page 178

Reference: Learning Objective 2 / Departmentalization

Rationale: With process departmentalization, the organization is divided according to production processes used to create a good or service.

132. Which statements about organizational structure is true?

a. As a company gets larger, it tends to adopt a decentralized structure.

b. As a company gets larger, it tends to adopt a centralized structure.

c. The purpose of centralization is to make a company more responsive to a changing, complex environment.

d. In a centralized organization, most decision-making authority is held by lower-level managers.

Answer: a

Level: Difficult

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: In a decentralized structure, much decision-making authority is delegated to levels of management at various points below the top.

133. Jack Welch, former CEO of General Electric, stated, “If you don’t let managers make their own decisions, you’re never going to be anything more than a one-person business.” Welch was likely a proponent of _____ management.

a. authentic

b. decentralized

c. linear

d. centralized

Answer: b

Level: Difficult

Page 181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: In a decentralized structure, delegation of authority flows downward.

134. A manager’s span of control is usually _____ in a _____ structure.

a. narrower; flat

b. wide; flat

c. wide; tall

d. none of the above

Answer: b

Level: Difficult

Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

Rationale: In a flat structure, people are directly managed by one supervisor.

135. In the delegation process, _____ follows _____.

a. assigning responsibility; granting authority

b. granting authority; creating accountability

c. granting authority; assigning responsibility

d. assigning responsibility; creating accountability

Answer: c

Level: Difficult

Page 183

Reference: Learning Objective 3 / The Delegation Process

Rationale: The steps in the delegation process, in order, include assigning responsibility, granting authority, and creating accountability.

136. Line departments _____.

a. include those with special counseling and advising expertise

b. include those directly linked to the sales of products

c. include staff members who provide services to management

d. have little effect on the production of goods

Answer: b

Level: Difficult

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Line departments include those employees directly linked to the production and sales of products. 

137. In the Clark Equipment example given in the text, purchasing, materials handling, fabrication, painting, and assembly are examples of which of the following?

a. matrix departments

b. staff departments

c. legal departments

d. line departments

Answer: d

Level: Difficult

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Line departments include those employees directly linked to the production and sales of products.

138. Which of the following are the “doers” and producers in a company?

a. line employees

b. staff employees

c. matrix employees

d. the legal department

Answer: a

Level: Difficult

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: Line employees include those related to goods and services production.

139. Staff responsibility is _____.

a. clearly different from line authority

b. likely to include those employees involved in the production of products

c. not likely to include those who provide services to managers

d. linked directly to delivery of a product

Answer: a

Level: Difficult

Page 184

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: The separation between line authority and staff responsibility is clearly delineated; staff responsibility is typically carried out by those employees who provide services to managers.

140. A committee will likely _____.

a. consist of only top managers from one specific area

b. have no decision-making power, just the offering of recommendations to top managers

c. have some decision-making power

d. work together only for a short period of time

Answer: c

Level: Difficult

Page 185

Reference: Learning Objective 3 / Three Forms of Authority

Rationale: A committee will likely be comprised of top managers from several major areas; the entire committee may be granted decision-making power.

141. At Ace Products, three vice presidents report to the CEO, including the VP for Finance, the VP for Marketing, and the VP for Operations. Ace Products has a(n) _____ structure.

a. divisional

b. matrix

c. functional

d. international

Answer: c

Level: Difficult

Page 185

Reference: Learning Objective 4 / Functional Structure

Rationale: Functional structure is a form of business organization in which authority is determined by the relationships between group functions and activities.

142. Thomas Corp has three basic departments: children’s books, games, and toys. The company has a(n) _____ structure.

a. divisional

b. matrix

c. functional

d. process

Answer: a

Level: Difficult

Page 186-187

Reference: Learning Objective 4 / Divisional Structure

Rationale: A divisional structure relies on product departmentalization.

143. Functional structure fosters _____.

a. competitiveness

b. centralization

c. decentralization

d. bad accountability

Answer: b

Level: Difficult

Page 186

Reference: Learning Objective 4 / Divisional Structure

Rationale: This, in turn, makes accountability more difficult.

144. In some organizations, the matrix structure is _____.

a. a temporary measure

b. used for project teams

c. referred to as a “combination” structure

d. all of the above

Answer: d

Level: Difficult

Page 188

Reference: Learning Objective 4 / Matrix Structure

Rationale: In some organizations, the matrix structure is temporary, installed only for the completion of a team project. It is referred to as a “combination” structure since two different types of structures are utilized.

145. Which of the following types of structure entails a second chain of command?

a. divisional

b. departmental

c. committee

d. matrix

Answer: d

Level: Difficult

Page 188

Reference: Learning Objective 4 / Matrix Structure

Rationale: A matrix structure is often referred to as a “combination” structure.

146. According to the text, Martha Stewart Living Omnimedia uses a(n) _____ structure to manage its lifestyle business.

a. matrix

b. divisional

c. operational

d. departmental

Answer: a

Level: Difficult

Page 188

Reference: Learning Objective 4 / Matrix Structure

Rationale: The company is organized broadly into media and merchandising groups, each of which has specific products and product groups.

147. Wal-Mart handles all international operations through separate _____.

a. companies

b. countries

c. international divisions

d. departments

Answer: c

Level: Difficult

Page 188

Reference: Learning Objective 4 / International Structure

Rationale: As Wal-Mart grew, the company created a small international department to handle overseas expansion.

148. Global Research Consortium employs a _____ organizational structure, meaning it has little or no formal structure.

a. team

b. virtual

c. learning

d. boundaryless

Answer: b

Level: Difficult

Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

Rationale: GRC offers research and consulting services to firms doing business in Asia; as clients request various services, GRC’s staff subcontracts the work to an appropriate set of several dozen independent consultants and researchers with whom it has relationships.

149. To provide a state-of-the-art classroom and instructional technology, Shell Oil recently purchased an executive conference center north of Houston as part of its program to become a _____ organization.

a. team

b. virtual

c. learning

d. flexible

Answer: c

Level: Difficult

Page 192

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

Rationale: The facility boasts state-of-the-art classrooms and instructional technology, lodging facilities, a restaurant, and recreational amenities.

150. Which of the following statements regarding the organizational grapevine is true?

a. Grapevines are found in nearly all organizations.

b. Grapevines follow the same patterns as formal channels of communication.

c. Managers have no control over the grapevine.

d. The grapevine is very rarely an asset.

Answer: a

Level: Difficult

Page 193

Reference: Learning Objective 5 / Organizational Grapevine

Rationale: Grapevines are not always found in very small organizations and this “rumor mill” does not follow the same communication channels as does formal communication. Managers do have some control over the grapevine.

Short Answer Questions

151. Why do most businesses use organization charts?

Possible Answer: Organization charts clarify structure and show employees where they fit into a firm’s operations. The solid lines define the chain of command or reporting relationship within the company. 

Level: Easy
Page 174

Reference: Learning Objective 1 / Organization Charts

152. What elements work together to determine an organization’s structure?

Possible Answer: Among the elements working together to determine an organization’s structure are its mission, strategy, size, and environment.

Level: Easy
Page 175

Reference: Learning Objective 1 / Determinants of Organizational Structure

153. Define job specialization.

Possible Answer: Job specialization is the process of identifying the specific jobs that need to be done and designating the people who will perform them. 

Level: Easy
Page 176

Reference: Learning Objective 2 / Specialization

154. What is a profit center?

Possible Answer: A profit center is a separate company unit responsible for its own costs and profits. 

Level: Easy
Page 177

Reference: Learning Objective 2 / Departmentalization

155. At what managerial levels is most decision-making authority held in a centralized organization?

Possible Answer: In a centralized organization, most decision-making authority is held by upper-level managers. 

Level: Easy
Page 180

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

156. Define accountability.

Possible Answer: Accountability is the obligation employees have to their manager for the successful completion of an assigned task. 

Level: Easy
Page 183

Reference: Learning Objective 3 / The Delegation Process

157. Why is the matrix structure referred to as a “combination” structure?

Possible Answer: The matrix structure is referred to as a “combination” structure because it combines two separate structures within the organization. 

Level: Easy
Page 188

Reference: Learning Objective 4 / Matrix Structure

158. Describe the structure typically found within a virtual organization.

Possible Answer: A virtual organization has little or no formal structure; typically, it has only a handful of employees and a modest administrative facility. 

Level: Easy
Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

159. Describe a learning organization.

Possible Answer: A learning organization works to facilitate the lifelong learning and personal development of all of its employees while continually transforming itself to respond to changing demands and needs. 

Level: Easy
Page 191

Reference: Learning Objective 4 / Organizational Design for the Twenty-First Century

160. How does a centralized organization differ from a decentralized organization?

Possible Answer: In a centralized organization, most decision-making authority is held by upper-level managers. Most lower-level decisions must be approved by upper management before they can be implemented. In a decentralized organization, much decision-making authority is delegated to levels of management at various points below the top. The purpose of decentralization is to make a company more responsive to its environment by breaking it into more manageable units.

Level: Moderate
Page 180-181

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

161. List three factors that may inhibit a manager’s span of control.

Possible Answer: Factors that may inhibit (narrow) a manager’s span of control include task difficulty, task dissimilarity, and individual skill levels. 

Level: Moderate
Page 182

Reference: Learning Objective 3 / Distributing Authority: Centralization and Decentralization

162. Briefly explain the steps in the delegation process.

Possible Answer: The delegation process begins when responsibility is assigned. Then, authority is granted. Finally, accountability is created. 

Level: Moderate
Page 183

Reference: Learning Objective 3 / The Delegation Process

163. What is the difference between responsibility and authority?

Possible Answer: Responsibility is the duty to perform an assigned task, whereas authority is the power to make the decisions necessary to complete the task. 

Level: Moderate
Page 183

Reference: Learning Objective 3 / The Delegation Process

164. Discuss the difference between delegation and accountability.

Possible Answer: Delegation is the process through which managers allocate work to subordinates. Accountability, one of the steps in the delegation process, is the obligation employees have to their managers for completion of the assigned task. 

Level: Moderate
Page 183

Reference: Learning Objective 3 / The Delegation Process

165. What is line authority?

Possible Answer: The type of authority that flows up and down the chain of command is line authority. Most companies rely heavily on line departments—those directly linked to the production and sales of specific products..

Level: Moderate
Page 184

Reference: Learning Objective 3 / Three Forms of Authority

166. How do the job duties of line employees and staff employees differ?

Possible Answer: Line employees are directly involved in the production and/or sales of goods or services produced; staff employees generally provide services to management but are not directly involved in goods and services production. 

Level: Moderate
Page 184

Reference: Learning Objective 3 / Three Forms of Authority

167. What is the informal organization and how does it relate to the formal structure?

Possible Answer: The informal organization consists of the everyday social interactions among employees that go beyond formal jobs and job interrelationships. It can alter the company’s formal structure. The informal organization is sometimes just as powerful, if not more powerful, than the formal structure. 

Level: Moderate
Page 192

Reference: Learning Objective 5 / Informal Organization

168. What is the difference between specialization and departmentalization?

Possible Answer: Specialization refers to breaking down one overall job into several smaller jobs. Departmentalization refers to the process of grouping jobs together into logical units. 

Level: Difficult
Page 176-177

Reference: Learning Objective 2 / The Building Blocks of Organizational Structure

169. Describe the advantages of specialization.

Possible Answer: Specialized jobs are learned more easily and can be performed more efficiently than nonspecialized jobs. When jobs are specialized, it is also easier to replace people who leave the organization. 

Level: Difficult
Page 177

Reference: Learning Objective 2 / Specialization

170. Describe the disadvantages of specialization.

Possible Answer: When jobs are too specialized, employees may become bored and careless, derive less satisfaction from their jobs, and lose sight of their roles in the organization. 

Level: Difficult
Page 177

Reference: Learning Objective 2 / Specialization

171. Briefly describe the five basic forms of departmentalization.

Possible Answer: The five basic forms of departmentalization are customer, product, process, geographic, and functional. Customer departmentalization occurs when the organization is divided according to the types of customers they serve. An organization with product departmentalization groups people and functions according to the specific products being created. Process departmentalization occurs when the organization is divided according to production processes. Organizations with geographic departmentalization create divisions to serve different geographic areas. Finally, functional departmentalization occurs when departments are created around their function or activity. 

Level: Difficult
Page 177-179

Reference: Learning Objective 2 / Departmentalization

172. What is delegation? Identify four reasons that managers have trouble delegating.

Possible Answer: Delegation is the process by which managers allocate work to employees. Experts pinpoint several reasons why managers may have trouble delegating effectively. Some managers may be concerned that employees are less able to perform a job. Managers may also be concerned that the employee will “show them up” in front of others by doing a superior job. Managers may be hesitant to delegate because of a desire to keep as much control as possible over operations. Finally, managers may lack the ability to effectively delegate. 

Level: Difficult
Page 183

Reference: Learning Objective 3 / The Delegation Process

173. List and describe the three forms of authority.

Possible Answer: The three forms of authority are line authority, staff authority, and committee and team authority. Line authority flows in a direct chain of command from the top of the company to the bottom. Staff authority is based on expertise and usually involves counseling and advising managers. Committee and team authority is granted to committees or work teams involved in a firm’s daily operations. 

Level: Difficult
Page 184-185

Reference: Learning Objective 3 / Three Forms of Authority

174. What are the basic forms of organizational structure? Briefly describe each.

Possible Answer: The basic forms of organizational structure are functional, division, matrix, and international. In a functional organization, authority is determined by the relationships between groups and activities. Functional organizations tend to be structured around basic functions. In a divisional organization, corporate divisions operate as autonomous businesses under the larger corporate umbrella. Organizations with matrix structures form teams, and team members report to two or more manages. International organizational structures have developed in response to the need to manufacture, purchase, and sell in global markets. 

Level: Difficult
Page 185-188

Reference: Learning Objective 4 / Basic Forms of Organizational Structure

175. List and describe three advantages of a divisional structure.

Possible Answer: In a divisional organization, corporate divisions operate as autonomous businesses under the larger corporate umbrella. A divisional structure allows the corporation to evaluate the performance of each division independently. Because the divisions are relatively autonomous, a firm can sell or eliminate a single division with minimal disruption to the remaining business operations. Finally, a divisional structure can create healthy competition. Divisions can share certain corporate-level resources. 

Level: Difficult
Page 186-187

Reference: Learning Objective 4 / Divisional Structure

Essay Questions

176.  Discuss the factors that influence a firm’s organizational structure.

Possible Answer: Each organization must develop an appropriate organizational structure: the specification of the jobs to be done and the ways in which those jobs relate to one another. Most organizations change structures almost continuously. Firms prepare organization charts to clarify structure and to show employees where they fit into a firm’s operations. Each box represents a job, and solid lines define the chain of command, or reporting relationships. The charts of large firms are complex and include individuals at many levels. Because size prevents them from charting every manager, they may create single organization charts for overall corporate structure and separated charts for divisions. 
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177. Explain specialization and departmentalization.

Possible Answer: The process of identifying specific jobs and designating people to perform them leads to job specialization. After they are specialized, jobs are grouped into logical units—the process of departmentalization. Departmentalization follows one of five forms: (1) product departmentalization, (2) process departmentalization, (3) functional departmentalization, (4) customer departmentalization, or (5) geographic departmentalization. Larger companies take advantage of different types of departmentalization for various levels. 
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178. Describe centralization and decentralization, delegation, and authority as the key ingredients in establishing the decision-making hierarchy.

Possible Answer: After jobs have been specialized and departmentalized, firms establish decision-making hierarchies. One major issue addressed through the creation of the decision-making hierarchy involves whether the firm will be relatively centralized or relatively decentralized. Centralized authority systems typically require multiple layers of management and thus tall organizational structures. Decentralized firms tend to have relatively fewer layers of management, resulting in a flat organizational structure. Delegation is the process through which a manager allocates work to subordinates. In general, the delegation process involves three steps: (1) assigning responsibility; (2) granting authority; and (3) creating accountability. As individuals are delegated responsibility and authority in a firm, a complex web of interactions develops. These interactions may take one of three forms of authority: line, staff, or committee and teams. 
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179. Explain the differences among functional, divisional, matrix, and international organizational structures and describe the most popular new forms of organizational design.

Possible Answer: Most firms rely on one of four basic forms of organizational structure: (1) functional, (2) divisional, (3) matrix, or (4) international. Functional structure is a form of business organization in which authority is determined by the relationships between group functions and activities. A divisional structure relies on product departmentalization. A so-called matrix structure is organized along two dimensions, instead of just one, by combining, for example, a functional and a divisional structure. International organizational structures are developed in response to the need to manufacture, purchase, and sell in global markets. As global competition becomes more complex, companies may experiment with ways to respond. Some adopt truly global structures, acquiring resources and producing and selling products in local markets without consideration of national boundaries. Organizations also continue to seek new forms of organization that permit them to compete effectively. The most popular new forms include (1) team organization; (2) virtual organization; and (3) learning organization. 
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180. Describe the informal organization and discuss intrapreneuring.

Possible Answer: The formal organization is the part that can be represented in chart form. The informal organization—everyday social interactions among employees that transcend formal jobs and job interrelationships—may alter formal structure. There are two important elements in most informal organizations. Informal groups consist of people who decide to interact among themselves. Their impact on a firm may be positive, negative, or irrelevant. The grapevine is an informal communication network that can run through an entire organization. Because it can be harnessed to improve productivity, some organizations encourage the informal organization. Many firms also support intrapreneuring—creating and maintaining the innovation and flexibility of a small business within the confines of a large, bureaucratic structure. 
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BOXED FEATURES

Entrepreneurship and New Ventures: Making the Grade

181.  In what way might have Smith utilized specialization in building FedEx?

Possible Answer: Smith likely has identified specific jobs that need to be done and has designated the people who would perform them. 
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182. Could Smith utilize geographic departmentalization? Explain.

Possible Answer: Yes, geographic departmentalization would allow Smith to divide FedEx’s work according to the areas of the country or world that is being served. 
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183. Is FedEx centralized or decentralized? Explain.

Possible Answer: FedEx is decentralized. In fact, one key to FedEx’s success has been its commitment to decentralization. While the firm preaches and practices standardization in its daily business activities, managers throughout the firm are encouraged to question, to challenge, and to develop new ideas. 
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184. Might the delegation process be carried out any differently at FedEx than at any other organization? Explain. 

Possible Answer: No. The delegation process is likely to be carried out the same—responsibility is assign, authority is granted, and accountability is created. 
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BOXED FEATURES
Say What You Mean: What to Call the Boss

185. Why are global companies organized in different ways?

Possible Answer: The culture of the home countries is a primary reason. Both organizations and cultures influence the way decisions are made and communicated. Some communication gaps between boss and subordinate are quite formal, whereas some gaps are informal in other cultures. 
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186. Assess the degree of formality between the boss and subordinates often found in U.S. companies.

Possible Answer: U.S. companies tend to have formal organizational structures while fostering communication—even between senior managers and lower-level managers—that is often casual and easygoing, right down to the use of first names. 
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187. Assess the degree of formality between the boss and subordinates often found in Latin American companies.

Possible Answer: Bosses have a great deal of power and authority, and workers give them a corresponding degree of respect. Mexican bosses, for example, are expected to provide employees with more than orders in the workplace; they are supposed to be a course of moral support and material assistance. 
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188. Does the grapevine exist within organizations in foreign countries? Explain your thoughts.

Possible Answer: The grapevine is an informal communication network that can run through an entire organization. As long as there are people dealing with other people within organizations, regarding of where, students will likely suggest that the grapevine will always run rampant. Of course, some organizational cultures—and likely some foreign cultures over others—are more “welcoming” of the grapevine and informal organization than others. 
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Short Case Scenario
Steffi Graf has assumed leadership of Ace Products after many years of loyal service. Ace Products is an international manufacturer of copiers, printers, and fax machines. Historically, their customers have fallen into four groups: hospitals, small businesses, airlines, and state and local governments. After talking with her daughter, who has just completed her business degree, Steffi is beginning to wonder if reorganizing would benefit Ace Products. The organization chart shows that there is a Vice-President of Manufacturing, Vice-President of Accounting and Finance, and a Vice-President of Marketing; they all report to the President of Ace Products.

189. Ace is a centralized organization. What does this mean?

Possible Answer: Most decision-making authority is held by top managers. Most lower-level decisions must be approved by top managers. 
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190. Is Ace likely to be tall or flat? Explain.

Possible Answer: Ace is centralized, which indicates that the company likely utilizes a tall organizational structure. Ace is multi-tiered with various levels of managers. 
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191. Describe the span of control likely to prevail at Ace Products.

Possible Answer: In tall organizations, such as Ace, span of control tends to be relatively narrow. 
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192. What are three factors that may impact span of control at Ace Products?

Possible Answer: Job similarity, job simplicity, employees’ skill levels, and other possible factors could affect span of control. 
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193. Describe line authority at Ace Products.

Possible Answer: Line authority is the type of authority that flows up and down the chain of command. Line employees are doers and producers in a company. 
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194. Describe staff authority at Ace Products.

Possible Answer: Staff authority is based on special expertise and involves counseling and advising line managers. Staff members help line departments in making decisions but do not usually have the authority to make final decisions. 
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195. Based on the organization chart described in the scenario, how is Ace Products organized?

Possible Answer: It appears that Ace Products is organized as a functional organization. 
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196. Steffi’s daughter has recommended that Ace Products be reorganized into a divisional organization. Including only top layers of management, how might the organizational chart differ from what it looks like now?

Possible Answer: Under the President, a vice-president of various divisions could be seen; for example, a Vice-President of Hospitals, a Vice-President of Airlines, etc. could all report to the President.
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197. What benefits can be expected from a functional organization?

Possible Answer: Functional organization is the approach used by most small to medium-sized firms. The benefits of this approach include specialization within functional areas and smoother coordination among them. Functional organizational also fosters centralization, which may be considered both a benefit and a disadvantage. 
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198. How would you advise Steffi about the best organizational structure for Ace Products? Why?

Possible Answer: Answers will vary and will likely include some of the advantages listed in the textbook. In addition, students may mention that coordination may become difficult in a functional organization. In divisional structures, corporate managers may lose touch with daily operations if too much control is delegated to division managers. In addition, competition between divisions can become disruptive and efforts in one division may be duplicated by those of another. 
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199. How might a divisional structure benefit Ace products? 

Possible Answer: Divisional structures are popular among larger organizations and enjoy a number of benefits. Each division usually has its own identity and operates as a relatively autonomous business under the larger corporate umbrella. Divisionalized companies are free to buy, sell, create, and disband divisions without disrupting the rest of their operations. Divisions can maintain healthy competition among themselves by sponsoring separate advertising campaigns and fostering different corporate identities. They can also share certain corporate-level resources. 
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200. Steffi has wondered about the informal organization at Ace. Describe how the informal organization may negatively affect the organization.

Possible Answer: The informal organization can reinforce office politics that put individuals’ interests ahead of those of the firm. Also, information can be distorted when communicated without management input or review. 
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